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1 1 HER Kk YL #< DREAM AC 11 4 52 #
2 15 HAT 83 =O5 iR =H PR 11 4> 55 #
3 9 BIR X4 LDIED H6p KEFHPER 11 4> 55 #
4 7 JRE FK &5z &HLY b &R 11 5 56
5 16 BEAR 2 =LEE (TBM =H PR 11 4 56 #
6 18 FE W& UBE ph =HAPER 11 4 57 #
7 17 Tik FRERETE KES FOM =HAPER 12 4> 03 #
8 13 =K g% HE TRIRFH st AR 12 4> 05 #
9 4 TaH FE WALy Hom EEHPER 12 4> 16 #
10 14 #IR = HHIH HIF St AR 12 4> 16 #
11 21 A 223 =5 25 AT PR 12 4> 26 #
12 5 IE A& BEL HL ERAPER 12 4 31 #
13 12 AR Ew BHE #H St AR 13 4> 09 #
14 6 RA 7R s BhEE HRH iR 13 4 24 #
15 20 B BEE AKELH BEH AT PR 13 4 25
16 22 B EXF ALbE HTE AT PR 13 5 46 #
17 8 i B LDD FH g =diy 17 4> 54 #
18 3 EE SR L&DD HPFH  answrauvesszaree 18 4 12 F



